INTEGRATED ALGEBRA

The University of the State of New York
REGENTS HIGH SCHOOL EXAMINATION

INTEGRATED ALGEBRA
Thursday, June 16, 2011—1:15 to 4:15 p.m., only
Student Name: <7L€u e MGJ)'S” Qv
Sehool Name: =Hs @ Pl

Print your name and the name of your school on the lines above.

A separate answer sheet for Part I has been provided to you. Follow the
instructions from the proctor for completing the student information on your answer
sheet.

This examination has four parts, with a total of 39 questions. You must answer
all questions in this examination. Record your answers to the Part I multiple-choice
questions on the separate answer sheet. Write your answers to the questions in
Parts II, ITI, and IV directly in this booklet. All work should be written in pen, except
graphs and drawings, which should be done in pencil. Clearly indicate the necessary
steps, including appropriate formula substitutions, diagrams, graphs, charts, etc.
The formulas that you may need to answer some questions in this examination are
found at the end of the examination. This sheet is perforated so you may remove it
from this booklet.

Scrap paper is not permitted for any part of this examination, but you may use
the blank spaces in this booklet as scrap paper. A perforated sheet of scrap graph
paper is provided at the end of this booklet for any question for which graphing may
be helpful but is not required. You may remove this sheet from this booklet. Any
work done on this sheet of scrap graph paper will not be scored.

When you have completed the examination, you must sign the statement printed
at the end of the answer sheet, indicating that you had no unlawful knowledge of the
questions or answers prior to the examination and that you have neither given nor
received assistance in answering any of the questions during the examination. Your
answer sheet cannot be accepted if you fail to sign this declaration.

Notice...

A graphing calculator and a straightedge (ruler) must be available for you to use while taking this
examination.

The use of any communications device is strictly prohibited when taking this
examination. If you use any communications device, no matter how briefly, your
examination will be invalidated and no score will be calculated for you.

DO NOT OPEN THIS EXAMINATION BOOKLET UNTIL THE SIGNAL IS GIVEN.
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Part 1

Answer all 30 questions in this part. Each correct answer will receive 2 credits. No partial
credit will be allowed. For each question, write on the separate answer sheet the numeral
preceding the word or expression that best completes the statement or answers the question. [60]
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Use this space for

1 The expression x> — 36y? is equivalent to computations.
(1) (x — 6y)(x — 6y) @ x+6y)x—6y)
(2) (x — 18y)(x — 18y) (4) (x + 18y)(x — 18y)

X% -36y " .
(x+éyD(X-4y) =

2 The legs of an isosceles right triangle each measure 10 inches. What

is the length of the hypotenuse of this triangle, to the nearest tenth of 97 -H.O_go(a&ﬂmp/ o
M. .

an inch?

(1) 6.3 ® 141 0% 4b® =zt

2) 71 (4) 17.1

(T4 oF) ameser
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sections.

_ Which outcome is least likely to occur on a single s 7p1n'v’

land d s

(1) an odd number “6‘3’ rfect square

L

—

) aprime number 3

z‘/é

5 What are the factors of the expression x2+x — 20‘.§:

(1) (x +5)and (x + 4)
® x+5) and (x —4)

Chede (3o )t 9)

XZ+SX -4y -20

(3) (x —5)and (x + 4)
(4) (x —5)and (x — 4)

¥ v 2D l//d
6 What is 3v250 expressed in s1rnp_lest radical form?
(1) 5V10 @® 15V10
(2) 8V10 (4) 75V10
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(4) a number d1v151ble by 2 =

e

6
&

4 The spinner shown in the diagram below is divided into six equal

0., LQL:(:l/

- _SL e—
Mw”’@] _

(Pa K- 2O
(x +5) (X~ ”B

_ -ﬁ ajes‘; e j
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Use this space for
computations.
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Use this space for
7 A survey is being conducted to determine which school board computations.
candidate would best serve the Yonkers community. Which group,
when randomly surveyed, would likely produce the most bias?
o

@ 15 employees of the Yonkers school district N . !
(2) 25 people driving past Yonkers High School > +L eS¢ (, <oy N
(3) 75 people who enter a Yonkers grocery store AL \L‘ €
(4) 100 people who visit the local Yonkers shopping mall

1t 4 eul.

Teanl € oot

8 An 8-foot rope is tied from the top of a pole to a stake in the ground : !
as shown in the diagram below. /

P P

+e
If the rope forms a 57° angle with the ground, what is the height of . .?x:\'; i 2
the pole, to the nearest tenth of a foot? Sl e 0/ \ .
e e e I s ST J
(1) 4.4 (3) 9.5 & TR
z t " t‘} \i ’ \‘
O 6.7 (4) 12.3 C AN j A by o

\ " " &
@eﬂ\@mS}Q"’\O §¢A ‘yo\__./ CQ\CW\C_‘ACK MO‘Se ‘”\‘0 \.:XC—'Q:I(;‘» S

.4

9 How many different ways can five books be arranged on a shelf?

5 (3) 25
(2) 15 & 120
- - CWL‘\O \C&S “"(:; y t/’\
{ B b \(‘B;?l‘&a\ﬁwg\,godaﬁ@\ ‘Bo-al:" <
\ ° 4 \< \"».V/EMM\L_,_,:M_ S R
T
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Use this space for

10 What is the .slope of the line passing through the points (—2,4) and computaﬁonSJ
(3,6)? e/ enc R
e_
5 e e Seg TR
(1) -3 ® 5 mMm - w_,————— 5 [/\ P >
2 5 - X‘ 50 /"\”") o
(2) —5 (4) 5

_ é Y — Od\jww/
Cee (-SC(C,? Crc,@\f\ Dch \ 3 - (?_)

‘pO 7o Qeco V\& SO 4—7
11 Which type of function is represented by the graph shown below?

y \
A \\ \C./
\\ED
O—/(G—
s =
M
«< —» X
\ A ' \
0 Y\e_iiq_+\4& X C\f\*{ M S e * S N /\)C;)\-\k§
) o

@_“uc“‘e’ (‘%\) L N \,3( S
o Sk~
(1) absgute value 2 (3) linear &
CLJ o\c-/

(2) exponential * @ quadratic P p
Y / —

' x

\
12 Which equation represents a line parallel to the y-axis? o KT \/ = /

1) y=x (3) x=—y
(2) y=3 Y -
T~ N %L X .
\/ 2 %'X »._..__ﬁ._;?i \); X
L Ny
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Use this space for

13 Melissa graphed the equation y = % and Dave graphed the equation computations.
y = —3x2 on the same coordinate grid. What is the relationship
between the graphs that Melissa and Dave drew? _ 2 b

(1) Dave’s graph is wider and opens in the opposite direction from y - AX + D XA C
Melissa’s graph. N

X

-5 X

ol

@ Dave’s graph is narrower and opens in the opposite direction >/
from Melissa’s graph.

(3) Dave’s graph is wider and is three units below Melissa’s graph. \/ - ‘ |
(4) Dave’s graph is narrower and is three units to the left of Ou ¢ A l\EQQ(QR—f
Melissa’s graph.

Tle \QCSSQ/ ‘\’\,L Q)OSQ\AQ U a V,Qo‘g O\_) \‘Eﬁa/

CADCEL TNCCEDLD '\\,\,Q, pg(c;\oo\c..

\fe Noe Uclues of & open down, Koyt I O(}&m e
14 In right triang e%BC shown below, AB = 18.3 and BC = 11.2.

: s
— | Co el <%
—r;"\—:\ T H v tas e(’ A _G‘l%;r’\t(’,
2
C

18.3 \a~
adyece & W - 3\.L‘\

What is the measure of ZA, to the nearest tenth of a degree? ¢ C\Q ~ 2
———— 2 O \&.

@ 315 (3) 52.3 2\ S

(2) 37.7 (4) 58.5 L g’

\"fx P
Q&M QM\Oe/ : ge/\ CG\C—W\OX_SO/ \D &Q—Q}J( el AR A X

Integrated Algebra — June ’11 [6]



Use this space for

15 The maximum height and speed of various roller coasters in North computations.
America are shown in the table below.
Maximum Speed,
in mph, (x) 45 | 50 54 60 | 65 70
Maximum Height,
in feet, (y) 63 | 80 (105 | 118 | 141 | 107
Which graph represents a correct scatter plot of the data?
y y
y A
S 80 B 140
£ 2 g/\\
£ 70 ® =120 E
: LA
@ 60 . <100
a ® -a I _ ‘\,O
&S50+t T 80| AW
BRE < ol ]
8 401 8 60L-+¥
= > X = - > \ ~% CB )(
60 80 100 120 140 40 50 60 70 80 N \ ©
y Y Max Height, in feet Max Speed,inmph - . &  te’§
X (o 0d \Q} - g \ CG’
e i B T S
\J o S O~
o O, tE
0" o y y
W @ ?_‘ A = 4
S140 . 2 80
.%120 . £ 70
5100 UBIBIR, B 60 \=l y
£ 80 & 50| A N
x x “’ - =R
S 601+ S 404 ¢
40 50 60 70 80 60 80 100 120 140 \Ir~* 3 N ('
Max Speed, in mph Max Height, in feet Ly o 3&@.’ < \\DS
/‘\‘ S \ gC & \c/:) QS
® (4) AT o \)c/( o
AN \
VX~
O
16 Which set of ordered pairs represents a function? e ~%
N \,\O_/s °
(1) {0.4),(24), (2.5)) (3) {(4,1),(6.2), (6,3), (5,0)} o
@ ((6,0),(5.0),(4,0)} (4) {(0,4),(1.4),(0,5), (1,5)} o~
~—_ \ o
> oM A\
o AN
R P
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Use this space for
17 A hiker walked 12.8 miles from 9:00 a.m. to noon. He walked an computations.
additional 17.2 miles from 1:00 p.m. to 6:00 p.m. What is his average
rate for the entire walk, in miles per hour?

® 375 (3) 4.27 12.8 ol S Nowes
(2) 3.86 (4) 7.71 |7 2 \\e_i = \“\F‘ v
3D wAilecs o) o e
Bonder - 275 wes [hanr
Q \4\\ wrS
18 Which ordered pair is a solution of the system of equations >
y=x+3andy=x2—x? \/:X“’S \/:X"><
_ 2
N T I
, 4) (2, Z
O = KE-ZX -3
o el
N O__)(-H O =h-3
19 Which verbal expression can be represented by 2(x — 5)? \’x\ %= =) K= 3 -
(1) 5 less than 2 times x (27( f> > \\\ \Jz KT S
(2) 2 multiplied by x less than 5 2 (5 X “\\ N / - 3-\3
® twice the difference of x and 5 \\\
(4) the product of 2 and x, decreased by 5 7 A ~ S \ Y — é

20 The dimensions of a rectangle are measured to be 12.2 inches by
11.8 inches. The actual dimensions are 12.3 inches by 11.9 inches.
What is the relative error, to the nearest ten-thousandth, in calculating

the area of the rectangle?

(1) 0.0168 & 0.0165
(2) 0.0167 (4) 0.0164
M ees ed C/X"‘ o=
7.2 123

‘\4 Ce S 1 eﬁ' ~ AC¥WK\ _ [qg'qé - IL“-"S“/
@Q,\ Q}" Ve E(/o ;= AT - G
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21 An example of an algebraic expressionis ' A cle} u.G- g S 3 computations.
/(f)yme-%-b }3{%+3y<18
a3x+4y—7 S,él’f(x-%-y(x— =25

22 A study showed that a decrease in the cost of carrots led to an increase
in the number of carrots sold. Which statement best describes this
relationship?

(1) positive correlation and a causal relationship
‘ negative correlation and a causal relationship
(3) positive correlation and not a causal relationship

(4) negative correlation and not a causal relationship

Q k e_,\ Q. mavxl‘g
23 Given: A = (3,6,09,12, 15} Do hes all e

B = {2,4,6,8, 10, 12} SR S P (T ‘,_xg
What is the union of sets A and B?

(1) {6} (3) 12,3,4,8,9, 10, 15}
(2) {6, 12} @ (2 3,4,6,8, 9,10, 12, 15}

{Z/ 3,4 6,8, 1,100,112, 55

24 The value of a car purchased for $20,000 decreases at a rate of

12% per year. What will be the value of the car after 3 years? a)
y -4 \/ o

(1) $12,800.00 (3) $17,600.00

@ 3$13,629.44 (4) $28,098.56 (/

' 3
/L")‘\\w}«“’ (ZO OOD> X (/o@ >, -2 @5 = UCluﬂ_
U . \
20,000 X(.98> Z Ualee
#]3’/{929,4-[4 - ua,\w@__
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http:28,098.56
http:13,629.44
http:17,600.00
http:12,800.00

._ | o\ »eco .
. L. ) -l e,QwQ\S <
ULV\C5> ¢ L‘ 4 a‘p OCCfs LWOhen A ene ™ N e this space for

25 For which set of values of x is the algebraic expression 2’@;16 computations.
¢ —4dx — 12
undefined? _
undefinedr,
(1) {-6,2} (3) {~4, 4} 7(2, g x-lz ® O
(2) {—4,3} & (-2 6} : -
Kx2) Q( AN °
L;(A( e\~ "7 ﬁ“ﬂ_w‘.w:
W2 =0 -é i ©
" Vi Lz-2 K=b
26 Michael is 25 years younger than his father. The sum of their ages is
53. What is Michael’s age? I T-e
N
2) 25 (4) 39 M+ = s3> M+F =53
2m =28
M =4
27 Whatis the product of (6 x 103), (4.6 x 10°), and (2 x 1072) expressed
in scientific notation?
(1) 55.2 x 106 (3) 55.2 x 107 LA)VO
7 10 =
© 552x10 (4) 5.52 x 10 U L X 1D
-2

2 X0 Zrs-2)
T (é,ng,xZ)x |10

28 Which notation describes {1, 2, 3}?
(1) {x|1 =x < 3, where x is an integer} o 3 55 2 K \D

}

0 {x|0 <x = 3, where x is an integer} \\\ g s2 7&
}
}

(3) {x]1 <=x < 3, where x is an integer

(4) x|0=x=3, where x is an integer} § « o\ o desg O\\

T v et v e =
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29 What is % - 6% expressed in simplest form? computations.
— \,
(1) 76xy () - 1?2 _Z - _—/—’z
x L7 XK é '
7T—vy Tx — 2y
12% — 622 ® 1222 7 - ._____\_/-«
BE (LK
_ 3) D Ay
U )(42@ SR AT
30 When 5x + 4y is subtracted from 5x — 4y, the difference is 5 X 2 Y
(1) 0 (3) 8y {_/7\; T X
(2) 10x 0 8 \\2 7% - 2\/
\ "~M";;3F?N
5 =, T
- (5*“”) -sx-Hy
QX“Gy

—~
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Part 11

Answer all 3 questions in this part. Each correct answer will receive 2 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. For all questions in this part, a correct numerical answer with no work shown will
receive only 1 credit. [6]

31 The area of a rectangle is represented by x2 - 5x — 24. If the width of the rectangle is represented
by x — 8, express the length of the rectapgle as a bifjpmial.

(;:,u)'bfﬁ N ‘\/@\7/
. -2y
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32 A method for solving 5(x — 2) — 2(x — 5) = 9 is shown below. Identify the property used to obtain
each of the two indicated steps.

5(x-2)-2(x-5)=9 \( ‘
(1) 5x-10-2x+10=9 (1) —D\_gx'(\ Ju:\‘\\)t.

(2) 5x-2x-10+10=9 2 COMM\-}V‘L%'\”&«

3x+0=9

Integrated Algebra — June 11 [13] [OVE R]



33 State the equation of the axis of symmetry and the coordinates of the vertex of the parabola
graphed below.

__.—'—

§§~
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Part 111

Answer all 3 questions in this part. Each correct answer will receive 3 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. For all questions in this part, a correct numerical answer with no work shown will
receive only 1 credit. [9]

34 Given the following list of students’ scores on a quiz:rz,//lfz/,ﬁ’ 15,90, y4 ,?/

57,7, 12,19,15, 2o

L‘U/‘l'{’\ft,&_ beLh;b 8/,01 /0/ /gj [7/ )8} 23

Determine the median of these scores.

b

N\QJ\&_ﬂ - \Z («\3\\‘_ ~ A\ e n\,_m\of

'\.’\ Qo OfAQ~/Q‘,A S'—t\kﬁ—\r\i

< ‘P‘W WAO S¥ (O vADN b(\/
Pregu e mumnber

Determine the mode of these scores.
.

bﬂo A <
Vol Qo Seq‘u»&«\ ce )

The teacher decides to adjust these scores by adding three points to each score. Explain the effect,
if any, that this will have on the median and mode of these scores.

—

1y

SF\N \\\g medhan and e e ad o
7 g Q o\\ r’\.lﬂ“b

C‘:M

Cos o\ LA C CeeSe. “‘
)
s g TR S4B Iy

e 1 et PR PR RIS

Ve W\’;&:kf\ Z\<

\)emw W\‘Dé-ﬁ.u = 10

4
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35 Chelsea has $45 to spend at the fair. She spends $20 on admission and $15 on snacks. She wants to
play a game that costs $0.65 per game. Write an inequality to find the maximum number of times, x,
Chelsea can play the game.

4s -(zo+1s)
A

= X

Using this inequality, determine the maximum number of times she can play the game.

s - (=zo -HS’}
31 - X

Y

qs ':'j-b X

B

— o
65

-’

O
X

s 38441538 = X

\fs Jf’\\,t« e 0»-7\}““9* ~~ r\v.m\ae/
ox' A’\éneﬂs é\ne, e~ @\a-7

e it
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36 A plastic storage box in the shape of a rectangular prism has a length of x + 3, a width ofx — 4 and
a height of 5.

Represent the surface area of the box as a trinomial in terms of x. S‘! e £

Cee (QL i ¢
4¢>5 -

C}-—

X+3

<=-\ fZ ‘\"';'\L‘\ Q,;&..C.\\ _S\AL .

Swr ‘CC—CL c-rec_ c_l\-—

S = F(xnﬁ_qﬂ# 7 (§>@+3§){ 2(g>?“§(

Sde | §de 2 Sde3

- 2 (xgusx ¥ fo (33 + 1o (X

QX gy rbx-24 ¥IORA30 \O X TS0

g 24 & 1DRFZO WO KO

\7'/\)( + 18 X -—3“‘;&‘)\
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Part IV

Answer all 3 quéstions in this part. Each correct answer will receive 4 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. For all questions in this part, a correct numerical answer with no work shown will
receive only 1 credit. [12]

37 Solvg algebraically for x: % =_

— A
a 4 % 2%
4 SR AR
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38 An outfit Jennifer wears to school consists of a top, a bottom, and shoes. Possible choices are
listed below. )
Tops: T-shirt, blouse, sweater 5
Bottoms: jeans, skirt, capris  ~

Shoes: flip-flops, sneakers =

List the sample space or draw a tree diagram to represent all p0551ble outfits consisting of

one type of top, one type of bottom, and one pair of shoes.

- N ) = :’: * 5 LP:\ci
p:»‘ """" S\ 2 —ﬂc:‘::__:: (AN b
T S\Asf_} T C.t—«QI VS ememmToT g\n(:b:b

'g\f\‘-v
T SemmS . agf_::_« ,;m-v\'{,

Bhese == fet —o TS

- LQ-E(\S rapggemeeeesars sosien (34 <

\
e W e
S Y . 3
i e N o g,

\ r* C-'f‘) %
e v e/( —_—— - - . N
S S e

e_:..Qr\s o
—\...« t

N
& e Y

Determine how many different outfits contain jeans and flip-flops.

J

Determine how many different outfits do not include a sweater.

12

[OVER]
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39 Solve the following system of inequalities graphically on the set of axes below.

I +y<7
2. _
yz—s-x 4

y4—3X+7

State the coordinates of a point in the solution set.

y
v A
]
. ,
: \ - \
Q\ é—“;/’/ )
EN
{ER N AV
- ( T N 77(
! X X % /
,‘\' pran : —
e \ﬁ T - u >~ 4 \‘\‘
< s iuE /‘/ >
\\) S /// L / ,
al //'/ . / \
P ) 1
A
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Scrap Graph Paper — This s
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